
Urkunde
‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐
!"#$%&'$()*+),''$-&./*0$1$2*340453#5)$67)$'*)+&89$:;8&#&$()*$<&3=&>,$?@@AB?@@C$&"8$D*)5'$67)$%"&$2*340453#5)$%&0$
?EF$G,/)/58%&)#0F$H53#5)&33&$()*I&4#&$"8$,33&8$J,8%&0)&+"*8&8K$(5L3"4,>*8&8K$M&L,N&8$$58%$6786$)&+"*8,3&$O./P&)Q584#R$
Q)*+),''&$=&)6*3+#&8$%,0$S"&3K$%"&$T50&"8,8%&)0&#U58+$5'$,4#5&33&$58%$478V"+&$W)0./&"858+06*)'&8$=*8$2*340453#5)$
U5$=&)>&6&8F$X'$Y,/'&8$%"&0&0$()*+),''0$6,8%$%,0$EFZ)&;&8$%&)$D)&"3"./N/&,#&)$"'$D)&"3"./#'50&5'$[,33&8L&)+$0#,NF$
T50#),+58+0*)#$%&0$?F$Z)&;&80$%&)$D)&"3"./N/&,#&)$ "0#$\U8,./$O]K$O#,8%*)#$%&)$^*''&%",$T%&L,)K$P&3./&$?@@A$U5R$
0,''&8$'"#$%&'$_&3N/&,#&)$W"80"&%&38$%&8$&)0#&8$()&"0$67)$%"&$"88*=,>=0#&$X80U&8"&)58+$+&P*88&8$/,#F

!"#$%#"&'$()#$*+'$,-.,'/"$01123+421'52/"14+6$7",/$+1$89:;<=>;?:8@$A)#&.,$

$ $ !+'$B#+C"6$321$8D#/E+11
$ $ F21G"5/$H6&'+I"/,$J"7E+11
$ $ K5&"66"&/D17$=+#41+$?+'6"#@$:"7&1+$L#+I"#

=&/$(267"1*"#$M"7#)1*D17N$
W"8&$ D)&5%&K$P"&$ 4*80&`5&8#$ %"&$ Z)5QQ&$ "/)&$ &"+&8&$T)L&"#0P&"0&K$ %"&$ OU&8*+),Q/"&K$P&"#&)&8#P".4&3#K$ */8&$ "'$ I&R$
P&"3"+&8$()*I&4#$%"&$=*)+&658%&8&$O"#5,>*8$,50$%&8$T5+&8$U5$=&)3"&)&8F$-M,0$a),4&3$=*8$Z5)#',889K$&"8&$T5V),+0R$
,)L&"#$5)0Q)78+3"./K$'"#$%&)$2*)+,L&K$2&)+,8+&8/&"#K$]&+&8P,)#$58%$S5458V$%&)$43&"8&8$_,33"0&)$]&'&"8%&$U5$#/&',>R$
0"&)&8K$ P5)%&$ ,30$ T5;*)%&)58+$ U5$ &"8&)$ ="&30&">+&8$ Y&./&)./&$ +&85#U#b$ M*)6+&0./"./#&8K$ <&c&8Q)*U&00&K$ O,+&8R$
d+5)&8K$[),5./#5'K$,L&)$,5./$W)6*)0./58+$=*8$<,8%6&0#&'K$T50458%0./,V&8$=*8$[,5P&)4&8$58%$"/)&)$P&./0&3=*33&8$
]&0./"./#&K$[&6),+58+&8$=*8$T80e00"+&8K$&)0#&$+&'&"80,'&$OQ"&3=&)05./&$f$
M"&$ )&0Q&4#=*33&8$[&+&+858+&8$=*8$5)L,8&8$Z/&,#&)',./&)8$'"#$J&5#&8$,50$&"8&)$ 3e8%3"./&8$Y,8%)&+"*8$0"8%$%&'$
-a),4&3$=*8$Z5)#',889$&"8+&0./)"&L&8K$,30$P&0&8#3"./&0$W3&'&8#$%&)$OU&8*+),d&K$+&8,50*$P"&$%"&$J"./>80#,33,>*8&8K$
&"8&$a),4&3',0./"8&K$Z,L3&,5c$="=,8#0$"8$,3#&8$<&))0./,V0/e50&)8K$45)U&8$OU&8&8K$H3,8+0Q),./&$"8$!"8"',3$T)#$1$,33$
%"&0$ &c,4#$ U5$ &"8&'$ 0>''"+&8$ Y58%+,8+$ U50,''&8+&L,5#$ 58%$ =&)0./"&%&8#3"./$ 4*86)*8>&)#$ '"#$ %&8$ _780./&8$
/&5>+&)$Z5)#'e88&)$58%$Z5)g),5&8F$

?F$Z)&;&8$%&)$D)&"3"./N/&,#&)R^<RW5)*Q,
\U8,./K$hF$O&Q#&'L&)$?@E@

J"3",8,$<&"'L&)+$ $ $ $ $ [,)L,),$O./35'Q6
J&"#58+$]&0,'#Q)*I&4#$ $ $ $ H780#3&)"0./&$J&"#58+


